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(A) pipe line  (B) RISC(C) F{ThRH (D) $HARRCHERS

12 SREEE SRR EE TYIHEEE ? '
(A) EBAEIRISIM T (lexical analysis) (B) BEEHISMT(parsing) (C) BRENLE
(dynamic storage)fYECiE (D) EHIHE(objective code)EE4H:

1.3 TR H (paging)RIBRat - WREZ T IERE ?

(A) AFFERATG AR SR o DA EE
(B) %ifh paging mapping table 1 TE R E $1/E
(C) P31 Fr (internal fragmentation)®] DLk vE R
(D) HhERmg }#(extémal fragmentation)®] CA#E 1B &

1.4 FTREME A ERSHIERR - CPU &3 T ROM rRRIFE= » DU ~ #E45
EEAE 30 BAE RAM ol e ek e s ERp I SRR, - T TEEE
JEAE ROM HREFZ2 S -

(A) MS-DOS (B) MS-Windows (C)BIOS (D) MODEM

15 —fRFrEE 32 (ITEL 64 AL T B H(micro- processor);E;gﬁA_szJrj%
TiFBIREY 2
(A) AIHEHENTHE(address bus)  (B) EfFan(register) (C) FEMHIRESHE
(control bus) (D) EHIEFiHE(data bus)
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1.8 FALHIEE S RS E 15 (Amazon.com) T B2 DUS B (A G B T 1
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1.9 THIR—ERRE » TEEEE CPU $ITHE ?

(A) RIREHIAN (B) REBRIGITTE (© Eﬂf@ﬁﬁﬁﬁ’]fiﬁﬁﬁ D)
EISPIET YR
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K 11001100 » HifHASRE ©
(A) 11000011 (B) 00111100 (C) 10101010 (D) 01010101

111 FHUTE T AFR /NGB HY-10(L 2 BIRHBRETOR) ?

(A) 10001010 (B) 00001010 (C) 11110101 (D) 11110110
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2 FRE
2.1 tools are software programs that automate or support the
drawing and analysis of system models and provide for the translation of
system models into application programs. ,(3%)
22 BRR—HERE 0E3PIAMERE - 1 RETES 1 B 5 FRREZL
& » T0ERLA recursive entity ZEH ERD B a,c,d SEZNSD ?

(3%)
—
(ab) c.d)
23 A is a review by two or more people of the accuracy and

completeness of a model or program. (3%) .

2.4 7E{E—f& software project [ plan i & structure
2 project #9TAF + FE/@= (hierarchically) Y decompose f% phases,
activities, and tasks ; [fj events FJ3{K signify the accomplishment or
completion of major deliverables during a project EFEE X
It project Ay F-RIEESE AR 7] & PERT chart or Gantt chart ZEF{EH
TREY > (5%)

2.5  There are two relations: DEPT(DEPTNUM , DEPTNAME , DEPTLOC)
and EMPLOYEE(EMPNUM , EMPNAME , EMPADDR , SSNUM ,
DEPTNUM), and the data requires that an EMPLOYEE should be assigned
to a DEPT (department). Considering the maintenance of integrity * if the

deletion of a department is allowed, the rule for deleting a department
should be “delete ”, (Underlinq means primary key.) (5%)
2.6 The rule that no attribute which participates in the primary key may accept

nullvaluesis . (2%) '
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2.7 HZ={H relations 4 F+ Table 3 A2 Table 1 B Table 2 RESE
join HUREER > ANSEINEH operation IEFE » #4F—&3HMBEE » BHIT

—FR ° (5%)
Table 1 Table 2 Table 3
D |NA TID |co |D TID (O |D [NA
1 |a 2 M7 |6 32 IM7i6 (D
2 o 37 Bt 1 37 B1 |1 |a
s IF 57 |co |s 57 |co s (F
6 |D 59 B2 i 59 B2 1 (A
77 M7 |5 77 M7 |5 |F
80 Jco |8 2 L
30 [co |8

3 TSR ﬁﬁ%?ﬁﬁ?ﬁ%ﬂlﬁ}?HHd@UﬁiEKﬁ@(StaCk) » BEBARY
NEFFRIARERZE » fﬂ%@iﬁ@%ﬁﬁﬁﬁ’fﬁﬁﬁi’@%ﬂﬁ@ﬁﬁﬂ » HAERATDIE 4
T EIEBEFINEFF (permutation) -

31 KEE - BRE L23 WEETEE A —EH B RS S5reE]
REB R TETET e e 2 (3%)

32 EHEBEUS nETE  hEA—EBEE] - EERiEa=ps 7tz 21|
BEME ? (6%)

4 FETRRRED =L BB R (preorder traversal )75 — TeAENYBT S &
Bl EI?%&%EH@WF}"‘HEF}“@WOM& sequence) ; [ - chFEEHLE S hRE
JIEiFF (inorder sequence) » TRIFEHET B HY4 PRI (postorder sequence) :

4.1 ERRE—HRIFIEFEAh EERE A A DAY E —fEME—8 — oA 2
(2%)

42 FERE—HRIFIER L REIERS - TR ] AR — e — g 5Tk 2
(2%)

43 ERE-HTRIEFGRIES  BETLkE — e —i = TR ?
(2%)

5 %ﬁﬁsﬁﬁ&%ﬂjuTﬁ%‘%ﬁZ@%m&ﬁm (20%)

5.1 Access Points and switches

5.2 SSL and Authentication

5.3 IEEE 802.11b and IEEES02.3

5.4  Packets and Frames

5.5 CDMA and FDM
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6 FRBLATHY JAVA 2 :(EIERE
6.1 FHi@HRIBEEENEENE @ B—EYEGEBIERE ? 3%)
6.2 EEALNTHIMER » HEHASREAM ? 3%) |
inputl: “4”
input2: “5”
input3: “10”
6.3 FERHEMEERHY Bug 7EHE ? 3%)

import java.awt.®;
import java.awt.event.®;

import javax.swing.*;

public class Sales2 extends JApplet implements ActionListener {
JLabel promptl, prompt2, prompt3;
JTextField inputl, input2, input3;
JTextArea outputdrea;
double sales[][];

public void init()

{ ,
promptl = new JLabel( "Enter sales person number: " );
prompt2 = new JLabel( "Enter pmduct'nufnber.' ");
prompt3 = new JLabel( "Enter sales amount: " );
sales = new double[ 5 ][4 ];
inputl = new JTextField(5 ),
input2 = new JlextField(5 ),
input3 = new JTextField(5 );
input3.addActionListener( this );
outputArea = new JlextArea();
outputArea.setEditable( false );
Container container = getContentPane();
container.setLayout( new FlowLayout() );
container.add( promptl );
container.add( inputl );
container.add( prompt2 );
container.add( input2 );
container.add( prompt3 );
container.add( input3 );
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container.add( outputArea );
}  // end method init

public void actionPerformed( ActionEvent actionEvent )
{
int person = Integer.parselnt( inputl.getText() );
int product = Integerparselnt( input2.getText() );
double d = Double.parseDouble( input3.getText() );

if (person >= 1 && person < 5 &&

product >= | && product < 6 && d>=0)

sales{ product - 1 ][ person-1] +=d;
else

showStatus( "Invalid input!” ),

double salesPersonTotal[] = new double[ 4 ],
Jor (int column = 0; column < 4; column-++)

salesPersonTotal[ column | = 0;

String output = "Product\tSalesperson 1\tSalesperson 2" +
"\tSalesperson 3\tSalesperson 4\tTotal";
Sor (int row = 0; row < 5; row++ ) {

double productTotal = 0.0;

output += "\n" + (row + 1 );

Sor (int column = 0; column < 4; column++ ) {
output += "\t" + sales[ row ][ column ]
productTotal += sales[ row ][ column ];
salesPersonTotal[ column ] += sales[ row ][ column ] ;

}

output += "\t" + productTotal;

/

output += "\nTotal";

for (int column = 0; column < 4, column++ )
output += "\t" + salesPersonTotalf column J;

outputArea.setText( output );

}  // end method actionPerformed
}  //end class Sales2
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